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کنیدمحاسبهرادارندارتفاعاختلافمترسانتی30همبهنسبتکهجیوهدرنقطهدوفشاراختلاف.

بهمتر40و30و20ابعادوکیلوگرم500جرمباجعبهیککهفشاریکمترینوبیشترینبیناختلاف
است؟چقدرکندمیواردخودزیرسطح

چهشودمیواردآنزیرسطحبرکهفشاریشود،برابر2آنضلعوبرابر4مربعیمکعبجرماگر
کند؟میتغییری

لافاختچقدرنقطهدواین.دارندفشاراختلافپاسکال1000اندازهبهآب،حاویظرفیکدرنقطهدو
دارند؟ارتفاع

کنیدمحاسبهظرفکفدررافشار.ایمریختهآبمترسانتی20آنرویوجیوهمترسانتی10ظرفیدر.

4جیوهارتفاع،مترسانتی2آبارتفاعاگر.ایمریختهروغننوعیوجیوه،آبمقداریایاستوانهدر

:باشدمترسانتی6روغنارتفاعومترسانتی

است؟چگونهپایینبهبالاازموادقرارگیریترتیب.الف

است؟چقدرشودمیواردظرفکفبرکهفشاری.ب

(مکعبمتربرکیلوگرمواحدها،900=روغنچگالی،13600=جیوهچگالی،1000=آبچگالی)


